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Que.1: [3Marks + 3Marks; COS5J ¢

(a) What do you mean by Call by Value and Call by reference? Explam the %Jffe?ence by
writing a function to calculats tie cube of an integer.

(b) What is dynamic memo.y allocation? Write and explain the dlﬂuf
allocation functions in C. F

Que.2: 3Marks + 3Marks; COS5]

wi‘amic memory

(b) If an array arr contains n elements, then write a rt;&%ii‘tcswe prbgram fo check if arr[Q] =arr{n-
1], arrf1]=arr{n-2] and so on.

Que. 3: [3Maris + IMarks; CO5]

{(a) Write a C program to maintain a recgfd 0 ‘{\%’ student details nsing an array of structures
containing four fields (Roll number, bla% /Marks and Grade). Each field is of an appropriate
data type. Print the marks of the stuc{em? b 91 ven student name as input. :

(b) What are self-referential strucftir?g%ﬁxpla:ln it with a suitable example.

| Que. 4: [3Marks + 3Marks; Cﬂtﬂ”}

(a) Write a program toffpi:@@ the’ele*nents of 1D array along with their memory address at which
elements are store@usmé*‘apomter

(b) Write a pro,,graﬂl%m C to count the number of vowels and consonants in a string using a
pointer. D

Que. 5_;?,13 ar«ksﬂ‘i 3Marks; CO8]

(@), Wi e, % file handling program to copy content from one file ‘abe.txt’ into another file
‘Xyzt;ct‘* N
(b) ff: a C program to reverse the first n characters in a file.

Que.6: [SMarks; CO4}

)

(A)  Write a short note on the Generation of computers.

(B)  Explain the difference between structure and union with an example.

(C)  Write a short note on type casting.

(D)  Write the difference between while and do..while loop.

(E)  Explain the difference between the functions {sscanf{) and scanfl)} and {printf}) and

sprint()}.



